Multiplication par 102 (H)

59 x 107

24 % 102

88 x 1072

49 x 1072

65 x 1072

89 x 107

72 x 1072

19 x 102

29 x 102

34 x 107

Trouvez chaque produit.

83 x 102

12 x10% =

47 x 10* =

25 x 10% =

12 x 102

81 x 10?2

94 x 107

13 x 102

21 x10%=

87 x 10% =
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Multiplication par 10% (H) Solutions

59 x 10 =5900

24 x 10% =2 400

88 x 10% = 8800

49 x 10 =4900

65 X 102 =6 500

89 x 102 =8900

72 X 10% =7 200

19 x 10> =1900

29 x 10> =2900

34 x 10* =3 400

Trouvez chaque produit.

83 x 102 =8300

12 x 10* =1 200

47 x 10> =4700

25 x 10> =2 500

12 x 10* =1 200

81 x 10>=8100

94 x 10> =9 400

13 x 10> =1 300

21 x10>=2100

87 x 10°=8700
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